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Programme: Shipbuilding Engg.

Subject: Ship Drawing & Calculations(4346)

Time Duration: 3 Hrs.                                                Max. Marks: 75               

Instructions: 1) Question No.1 is compulsory. Attempt any five  

                         from the remaining questions.                                                      

                     2) Figures to the right indicate full marks.  

                     3) Assume suitable additional data if required.

	Q.No.1.
	Write short note on any three:
	(15)

	        a)
	Static and dynamic stability
	

	        b)
	Margin Line
	

	        c)
	Tchebycheff’s bodyplan
	

	        d)
	Centre of floatation
	

	
	
	

	Q.No.2.
	What are cross curves of stability? From the cross curves of stability, how are the G2 curves obtained for various displacements and loading conditions. 
	(12)

	
	
	

	Q.No.3.
	Box shaped vessel having length 75m, breadth 14 m and depth 4m floats on an even keel at a draft of 3.2m in sea water. Find the trim in the vessel if a forward compartment of 5m long is bilged. The compartment is next to the stem.
	(12)

	
	
	

	Q.No.4.
	The following information has been obtained from the cross curves of stability of a ship of displacement 40,000 tonnes.
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	(12)

	         
	 For KG=10m, determine    a) Initial Metacentric Height (GM)

                                          b) Dynamic Stability at 15(.  
	

	
	
	

	Q.No.5.
	Answer the following:
	

	        a)
	What are classification societies? Describe the role of such societies in respect of new construction.
	(6)

	        b)
	Describe the difference between stability at small angle of inclination and that at large angle of inclination.
	(6)

	
	
	

	Q.No.6.
	Answer the following:
	

	        a)
	Draw the typical view of transverse plain bulkhead.
	(6)

	        b)
	A ship of 10,000 tonnes displacement has the following righting levers when inclined.
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	(6)

	         
	Calculate the dynamic stability.
	

	
	
	

	Q.No.7.
	Answer the following:
	

	a)
	Why G2=Gm sin( cannot be used for large angle of stability?
	(6)

	b)
	Explain stiff and tender ships.
	(6)
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